AFiEh
EBESEFSEA PACKING LIST

FBRF: e 2#

1,FE2S5%:

TE: H202301397 EERpEE 3200kg

EBAEY | THJ 3200/ 1.0 - JXVF 7= BRe5E 3000+ —{A (L,
B/iuk 5/5/5 HEE:

BHARR | 2200x2750x2700 FIIRT: $55PUE1800 x 2600
2 fES5%E:

e B FERY Ra  |ags= &
1 |FBE8FE  |RbiE, B4, HARBSEHERTESR A6

2 R |FRRE, MR, SRR, SIIPEIRR A e

3 |FEARAE  |BEAR, TOUR, 1JMB, ), MUBEEE, XE ]

4 IR |BIR, BIE A6 E—NAHE
5 |48 |(MUBERFERGE, BUSIREE, 223U Nl

6 |SIMEEASIMTEE, HE, E, SHER, 18 il

7 |REIL  |REINRAN A

8 |IMNFE [ WLRERI JMRAB M, 1842 N

9 |1 (B EEEN, 182 ARFE

10 |EHZR | ENE, SHRREE, San YBEEER

11 |FRLER | ERRIEREE4 BREE

12 |FRATR | TR YBIEEER

13 |5FRaSAE SRR AR, FIE gl ae

14 |[WEE  |WER, WEREY, FERHIT, #5 YBEEER

15 &ER  |FREER, 8IR, B, BLiR BIEER

16 |28 |EiNLE, BEINME A4

17 |XESR  |XIEHR GES

18 |smmEsR| S, e

RESHE: 19 (&5

TR KRS

I Bexd : Hig: oF: ke
BRI B
B : E:

5 MEAENEREREYIE . Bk RRFERE, NEBREZHE=S




MoOR R B®

I

EFERS H202301397 BE/%/17 5 /5 / 5
PSS THJ 3200 / 1.0 - JXVF BRMNRT 2200 X 2750 X 2700
EPER SR 24 FIIFRER MU - 1800 X 2600
|5 | iR 4 R K5/ R8s % K/ Bpr % I
Ve | s bR b IR vere N % [srfE. A
2 | H RIS YR e 2E R bRkt 120 X 60 4 lin I R
3| H B EIR PRt 120 X 60 4 | s b
4 =l UL pANa] 164, #)%:130 4 A RELE |G
514 SR ik 150X 325, =16 2 oo | sedieE g
6 | A B LEe P P 350X 314 2 A wEAELER
7 El B Ee B 440X 314 2 A LRTE LG
8 | A T e, A $520-7-10-16 2 A AR i
9| H s it 48 £ £ it P 1=325 4 % | e g
0] H I LA KJE: 123700 G BAHHFK3700, RS | 2 % | s STk
11] A SEAE AT PRt Bl 16 it 4 fF | B
12| A i 5 R SRR B 2264] X 2782 1 %
H MR Pt & 1132 0 f
13| A T R 63X 63X 63 AL D16 hiff 4 A E il
14| A KRR B 16#1E4N L=2414 1 £ HEEHT
%15 | B MR bR AT 200%290, t=16 2 | fRmAE R
s PRE (TEER) T =
e Z S R LI 2‘“’”1‘”123);;?;%‘1 201 1537
7] H TR SR PR 130X 50 X 50 4 fF | TR 236
18] A I PRt BIK 4 A | weHiEA
19 H R RHAT D 16U2FF 1=2200/1900 8 % | AL
20| B e Lk TEBEARUELE L= 400 2 £ | BRI
21 | A WRPRFT AR AR 1.=3000, FL#i2000 1 %
22 | H P FrdELE 295X 90 X 55 2 4
23 H T IRV 38 R ARG 1 £
24 | H [ THLEE B bR 930 2 2 | 250, whFReIE
26 | 4h SRS BCT90/B, %Z#FL75X75 H103 5246 5 4L 4 A
o7 A o AR 75 KB s 2 A /N H
Gp R AR 5 AREHR s 2 A
. QJ107#Hi Rz 44 O | fRFSFE © 6000KG LEESy
il s D) (PWIHAL | g /s Wil 16 | | Bl p
29 | 4k L AHIRRAL B Jh, MiuAr. 2189 1 £ | B LR R
30 | 4h L RUKSH R I 1 ff | B LR E
SEEMEL : L. SmmfHRBTIEIK A (7030)
31| A J& M EERR =382, H=2700 2 ff miRBE K (70
32| H Jii HBEAR L=500, H=2700 3 1 pmiRBE K G (70
133 H MIHT . JERER =330, H=2700 4 fF pmiRmE R (70
BE | 34| H ) EERR AR A7 L=500, H=2700 8 1 pmiRBR K (70
35| H HRERR =82, H=2600 1 fF pmdRmE R e (70
36| H PR EERR =382, H=2600 1 1 iR K (70
37| H SRR RN RS 1-2264, H=100 1 FF pmdRm R R e (70
I THRIE 2% 890 1 fF pdmRmE RS (70
138 H TR 362 X 2264 1 1
139 H FFRTIAR 500 X 2264 3 ff FFAT FL
LAl | & T R E 500 X 2264 1 £ | IF380 I RUE 9L
141 H Jii SR AR 362 X 2264 1 1t
147] H TR L. SmnRRIBE YA AR £, (7030) L=475 H=2615 4 fF [RIT, 181152
15| H E1TR 1. SamERBR I AR € (7030) L=475 H=2615 20 [T, 1BIIEE
=l ARG 1. 2% 1=2565 10 s SR
156 | H |1 ERGE 1. Smm AR WA £ (7030) B=50 L=1920 5 %
E] [RESRVA 3 1. SRR B K 2 (7030) B=50 H=2620 10 14
[T 1. Smm TR (7030) 890 5 s
158 A PN A kL 14 i TR
H JEMETINL 2R PRt 40%60 0 ff:
149 | b 2EE GHEDEFEILTA61-A 917A61-AC220 1 £
38| H EP SIS L70X 70X 6 L=250 18 1
39 H FHPEH L70X 70X 6 =200 18 1
o 140 | B | BRSO RIS L70X70X6 L=1360 36 s AT
;n 41 | A B ST s L70X 70X 6 1L=150 36 1
42 | H FlEREsEy L70X 70X 6 L=1890 18 1 [fLEE110, W6
45| H RHE L50 X 5 =500 0 f
46 | H RHERD L50X 5 L=100 0 ff:




MR R &

5 &

EREgmE 1202301397 BE/%/17 5 /5 /5
Vil Ei k=3 THJ 3200 / 1.0 - JXVF BRMNRT 2200 X 2750 X 2700
BEPER SR 24 HFHIIFRER MU - 1800 X 2600
AP 5| ARiR £ R RS/ s % G e S TR =R VA & iF
e 5K/%, [#E: 10 % .
43 | 4k N E S T90/B Py Frr— 54 PN
X 5K/%, [BE: 10 %
44 | 4 it # 3 S TK5A Ziﬁi g; 0 f 54 *
45 | 4b F SRR T90/B 10 lis
46 | b il S HUE R TK5A 10 ff
47 | 4b BRI T90/B 88 Jal
S | 48 | 4b Bl SRR TK5A 98 R
B 49 | 4+ IR T90/B 18 A | BRAAFER
50 | 4h AR btk KL=1100 2 4 FLIE96x96
51 | 4k S K10. 3 FLEE: 110 4 i FLEE110
53 | 4h FHPHRA T90/B €= 0.5mm, 1.2mm 64 1t JE %
54 | 4b S TK5A £=0.5mm, 1.2mm 64 1 JEE ] %2
55 | &b B SHEh A bl 4 A
56 | H Xof E 48 B P 1590 X 4100 1 £ | W HRI
58 | 4 R kR, MKl ®400-7-10-16 2 A
59 | 4k UAAG 165, mfE:125 4 £ | FXUEEE, 68y
60 | 4b X 8 R4 760X 300 X 80 68 1 | k130, 52kg/ 1
o oLt X G 13K LT B=17 4 ~ T T oa
E 63| H o R k2R A iE] 200%50 3 | ASECER AR
64 | H R LB P 1 350X 340 2 A | BEECAE A
66 | H X HIEH R 1750 X 1220 2 1t g £
67 | A RERA L X1220 0 ik L)
68 | K NERN ST L= 600 8 %
69 | B K 6524, L=3000 2 %
70 | 4b e e LD-HC-L11 2 A
JEYLL 71| 4b o BRI T LD-HC-L17 1 A
2| H JETUICE FrifEE W H=1500 1 i
P WUEHEE 2 1 m/s
g 73 | 4 PR XSG607—BHA.Jia] [ 33 2% W1 . O8 mm 1 By S
Pk G B R . RN
74 | H FRRER PeEb bRl L=300 H=60 5 1 R
| 75 | A FR AR S BB UELE L= 345 5 %
E5l 6| A PRI K3 2 H:1900 2 %
7] H FRAV 37 42 FLEEL10 1= 375 4 % % B kkE
8| H R 48 SR Fis 1] THL© 28, 228 MU, 1 BERIB AN | 1 # |L=650
9] A i o 4 S B 7L 28, 228 4N 1 1 [1=350
80 | H BRI 2 Sk AR R =650, 164 F 44 0 %
i@ 81 | 4h B2 8%19S+NF-10 Hiz: @10 854 ¥ 122K X 7%
;% 82 | 4h PR AR AN 22 4 8#19s+PP-8 Bt 8 56 ES
83 | 4b FLk ®8 6 A
84 | 4 DRy D10 TdMR: 425 14 £
81 | H FER IS ] 1=200 0 = 2
85 | 4k B E 1Rz 1 £
#HE: 3200kg  HE: Im/s
_ L — Balk: 4:1  I)%:20. 8kw N
;ﬁl 86 | #h [0 5,51 ML WYT-TD2. OH PRETIS oy 1 & | #IEWyT-TD2. OH
Wl MR @400-7-10-16
87 | H EIeY fic 15 6EWYT-TD2. OH EME:  E 1 A [sy=742
88 | 4+ 1N B 22 2 BR 2417 6 £




> S

g -

ErEHwS H202301397 BE/%/11 5 / 5 / 5
ERES THJ 3200 / 1.0 - JXVF HRNR 2200 X 2750 X 2700
EPER B 24 FIIHFRER UG 1800X 2600
RS bR 4 B K5/ HE R e L T X A & IF
89 | H JRE T KE: 4. 1K 28#b .54 2 % T
9 [ H JK 3 KJE: 2% 18#b AN 2 % LHE
91 Z g K, EHIR LG T ;’ﬁ:
92| H R 5 2 2 Jie Bt 1 OB AL : 240 1 %% [ Lo#iE4d, 1=800
EREL AR e P 500%314 3 A
ﬁ B | W Rk P e =325 8 T
" H o 5 R 4R e, P ®520-7-10-16 1 =
93| H 5 IR IR SR S 2L P 680X 930 1 =
H HRIRAE R, A ®520-7-10-16 1 A
9| A EHLF 5 BEERES, A ®400-7-10-16 1 A
H HZRE1 Ff 1 L=470 1 # [1.2mmigsER
B HZRE2 B L=360 1 # [2.0mmiEsR
95 | 4 | Smikt. REGURE 164, /125 8 £ | aeiEsr, #E
96 | 4h AT BRYN T 3000+— AL, 1 ES 22 kw
97 | 4k BEATHRZE . R FiEEE: 26.4 K 1 S CLRLEE T
98 | 4+ s LB FF 9% 4 A
99 | 4t LRI i 7 22 L PR B HEAL 1 £
[1oof 4 PR RO . 1150X 155 b 5 /5 /5 1 =
iﬁji 101 | b | SEHANEA CEEDD T BT 1 4
z 102 4k i A TR &SN 3 A
z | 103] 4 T AN & TIEEA 1 A
104 | 4k JRIUESHE A 1 A
105 | 4k JEE I R T R [ mpagivl 220V / 40W 2 A
106 | 4b AMEE 2 i
107 | 4k HLAE I S 4 2 A i
108 | 4k LR ] 5 2% L=1000 /% 6 %
109 | 4k ML B4R AN 22 kw 1 A 100A
110 | 4 HIRAE KT I8 I8 AT 220V / 60W 1 A
111 4k HELT AC220V 60Ws 4 & 5 A
é‘% 12| 4 T RUKS I 1 s
- 13| 4 &N VSIPS LX29-7/3 0 A
o |14 Ap AT LED4T :1020 X 40 3 =
115 | 4 FF IR HR AC220V % &DC12V 0 o LEDT
116 | 4b FRAZIFSE (1370) 4 A
117 | 4k 78 1 £S5
118 4h R R [53 7% HD/BRB 2 Ei
119 | 4b o [l B A 4 S 4R BVARFRARI : 16 mm? 55 S
120 | 4+ —ihELg 3X0.75 mm? 20 *
121 4k 2. 5mm’ # 4R Hh 2 20 PS
122 4k 10mm2 3 SR 2L 20 B
123 | 4k P 45 FEL AL 35 B i £ 0 ES
124 4b LR 80X60X 1.2 5 2%
125| 4h LMERER 10 I
sb W 5K/ % 2 %
s i 52 2k 50 i
;% 126 | 4t SRS REA, 930 8 * LB
0 127 4k SIRHE K, 10 5 K v
o 128 ah O Rk ®30 mm 4 A
129 | 4k O Rk ®10 mm 10 A
130 | 4k MR ®13, B 6 K| RGBS
131 4 RS 3k @13, 90° 10 A
A b & o 1 A B
132 4h Je ALy 200mm 200 %
133 4k 2K IR R D6 mm 176 A
134 | 4b L TR A 3 &
135 | 4b BELRIE () 24 A
136 | 4k LH (K UT10-6 20 A
137 4h RE (M) SV1.25-3.2 40 A

3, L5 ;W



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



# B x BB B
EREgE 1202301397 BE/%/17 5 /5 / 5
RS THJ 3200 / 1.0 — JXVF HRARS 2200 X 2750 X 2700
EPEK s 24 FIIAFRER DU 1800X 2600
|| R E4 R E 5/ RS Z B O &% JR AL %
FFITRSF: 1800 X 2600 S 1170, 8
142 | 4 FEIIHL OMJ—202A e TN, EERE MK, 1 G W, MBS
L 117] weifEfEss °
7 [144] A 1 IR 1l 1900 X 800 1 lis
146 | B P IR SR LR KB =490 4 %
148 B RIS s KJ¥: L=2350 1 % | ammbbtinas
N SR P T
150 | 4h BTk 0CM-05AX (96) JPTTSERE:  1800X2600 | %= |6 =mbr. @,
43 Y it
B2 |162] A M KAEIR RS K. 1=2000 5 £
(711163 A JEZ 1T IR Pt 1 1900 X 400 5 4
164 H FEIEF IR FMR 5 7S K5
165| H FHIET IR A 25 F4 15 ¥
68| H & I THEIK AR bRk K:500 35 A
169 | 4h S WL 5 kg
170 | 4b FATIZK 2 kg
171 | 4b el 1 kg
172 4h LRI 6 kg
e s ] ot LR 1 £
174 H ES K] bRk ®8 mm, L=1000 5 %
175 | 4k fLHEE] s 4 i)
176 | b N K ® 4482445 2 %
Tl 4R R oL o o
179 4 AMERE HE $ 10 25 K 0 %
180 | 4k AMERE SIS EWGKE, L=1860 0 s
181 | 4b |AMEHES A E ik L=510 0 s X
Wzl 182 4b LK O848 0 %
83| B | ey ) D 84k 0 H
54| 4 M 2% e AR peEm 0 n
185 | 4k UBGE (M12, FLIE72) 0 £ FIgR
o400 L5 T
W R R E B
RS 1202301397 BE/%i/11 5 / 5 / 5
EEEE THJ 3200 / 1.0 - JXVF RN R 2200 X 2750 X 2700
B2 0 F1GFRE R~ AMUE . 1800 X 2600
ElYed Ihes R A K5 /s Z B R & JFRS A & IF
1| FRERS A IEHE M18 X 60 BOopa, e, R WERE | 30 = 8.8 JAfh
5 R R e 24 M20X110 BLSPH . Bt WAL SURRE| 0 = | 8.8 gikE
35 R SRR R R 12k M16X110 Fo T, il R, WER| 0 %= 8.8 YA th
2 | SRS R B2 M16 X 40 BOoPH ., Rl spgk R 8 £ B
3 |y AR, A B2k M16X70 XT3, B 18R 16 = 8.8 A
4 | FEURS b, TGS 12 M8 X 25 FoPk, spd, 18R 16 £
5 | FRAGEERRRT R BERE M12X 40 Ao Pk, spd . IBEE 2 = [
(S R DT = 12 FE M8 X 80 BOoPH . Rl spdl R 8 £
7 |E R E BERE M12X90 [ N 5 N 4 ESS
8 [ITHLIE 3 A 4 R A RS M12 X 45 FoPk, spdh, 18R 20 £
9 [N RS TN S 38 BERE M12 X 45 BO Pk, spE . IBRE 2 ESS
ol 10 |ITHL e SR A 2R M12 X 45 Ao Pk, spdh, 18R 2 £
Ze |1 [N TR S e PR M12X45 Be Pk, SpE . IBRE 4 £
12 | TIHLT kS RS S A 12 M12X45 Boopaf, spdk, WERE 4 £
13 | FRERR Sk 12K M18 X 60 BO P, s, R WERE | 24 = 8.8 JAfh
14 [ TR R B2 M12 X 45 BioP . gl g WERE 12 £
15 | FREgRE 22 4 B2KE M16 X 60 B e, TRl gEk WBRE 8 ESS
16 |SEAESRATH . fiATpR RS M12 X 40 BioF gl g R 12 £
17 | FiAF 5 FiT B2 REN20 A2 X SPik, sk, 3XUBRE | 4 £
18 | Wik SRt E 12 M20 X 90 BoPk, spd, 18R 4 £
19 |RELER B2k M18 X 40 B T3, Rl mEk WEEE 20 £
20 |5 H IR AN 12 M16 X 40 BoPE . AR, wpsk . WEERE 8 £
21 S ITHIR 5 Hh IR AN B2FE M8 X 40 B3, Rl gk, WBRE 5 £
22 | P55 IR A PR M12 X 40 FooPk, spd, IBRE 2 £
23 |BERR S5RAL B2k M8 X 30 Be Pk, spE . IBRE 60 £
ol 24 |BENOGERE B2 M6X 20 FoPk, spdh, IBE) 176 £
BE | 25 |BUBEAR SEEHGH 2R M8 X 20 Fe-Fa . spds, BERE 6 ES
26 |BEHR SR TIUNR 2R M8 X 30 FoTk, spd, 18R 60 £
27 |FEIS [ ORISR JEZRKBE RS M12 X120 AFE R | dfiEk, WERE | 152 % TaEE
28 |FERGE E (kR ERMIREE M12X280 | HrAbE. SPERaEk . BREE | 94 %
o 29 |XHREY: IERE M12 X 45 [ N 5 N 92 ES]
;n 30 |EHRG 2R M12X45 [ N N S 82 £ 13K
51 [mgJEm B M12 X 45 FFE, #E, WL 82 = T5K
32 | ERIERAR I2EE M12X45 Ao, B, 18R 90 £



Skyfree
Skyfree:
114轨用M16X55


R & - S

LA

AW 5 W

EFERS H202301397 BE/%/17 5 / 5 / 5
PR THJ 3200 / 1.0 — JXVF RN R 2200 X 2750 X 2700
P AR 0 HIOFRER DU - 1800X2600
S an Daea S A K5 /HE % K B A F T ik s & 3E
33 |RIHIERAR 2R M10 X 30 Bo-PEe . spdh | WREE 90 £
34 [ WEE 12K M8 X 25 Bo Pk, SpE . IBRE 4 £
35 X EARS T i1 M8 X 25 FiPEh, g, W9 4 53
b | 36 | dERRE E 2R M10 X 40 Ao -Fa . spdl, BERE 4 £ | W OUER
H | 37 [XEAS X E G 2R M10 X 30 FooPk, spd, 2R 16 £
38 X 5 5 AR SR M10 X 25 Bo Pk, spds . IBRE 2 ESS
39 | E YRS B ST 4 2R M10 X 25 Boopaf, spdk, WERE 24 £
JETU| 40 SR dt SR EIKIRAE M12 X 120 Fopad, gfid, RE) 12 =
AR | 41 | BRI 3% 5 PR S 2R 12 M8 X 25 Boopaf, spds . WERE 4 £
R4 42 | PR 2 3] 52 AKIZAS M10 X 80 AIETRE L k., ZR 0 53 w4
43 [ 7 2R R 5 B S 2 12 M10X 25 Boop sk, sk, WEE 12 Y
e 44 *%KE?&BEEEFEJLE@ IERE M12 X 45 ﬁa?i}g\ g, WZR 12 £ T13K
45 | EHR 5 3 48 12 M6 X 20 i Y N (6 N S £y
46 |BREIIR AR S SRS PR M12X45 Br Pk, spd . IBRE 10 = T13K
Wy | 47 WIS L M24 X 110 FOFEA . Bk, RHEA SUERE | 4 = 8.8 %
g [ 48 |EHLER G A S 12 M8 X 25 AP, i, §2R) 4 ES
Bl [ 49 | EIHLFR R IKEE R M12X 100 AFETRRE L, R, R [ 12 53 WiEH Y
51 |4mihilkE [l JEZHK 2 M10 X 80 PRSP B UBRE | 4 5d A 4%
52 |HiE FE 4 ] E JKIET 4X40 126 %
) 53 DerIT R E I2HE M6 X 30 BAETEE . A B | 4 S
fog 54 | B FEE e 2R M8 X 25 ARG E . Ak, WEEE 4 5
T 55 |IRbURIBAIE E JEEIK B2 M8 X 80 ARG E . Ak, WEEE 4 Ea Himf s
56 |25 & e AKIEAE M8 X 80 ARG E . Ak, R 2 % B 4%
57 |HLA AR [ e AKIZAS M12 X 100 AIETHRE . ., ER 8 X
58 [ ML) FJEAH R e BIKEZ K M8 X 80 ARG . Rk, B R 4 53 WimA 5%
59 | MBI A E e JKYEET 4X40 90 %
60 | FBUKSTF R & B Sk IZHE M5 X 40 ARG . BRIk, iRk 4 £
| 61 |l ISR e B Sk IZHE M5 X 40 ARG . BRIk, iRk 0 £
FEfE| 62 s P RSB E JEZ K IZAE M8 X 80 ARG . BRIk, iRk 0 * e PLEE
63 [HLps LAt & MK IEFE M6 X 50 fAUFiFH . Bk, MR | 25 % e PLEE
64 W55 LAEIER: I M6 X 25 40 £
65 |24 5 i E H 822 MAX 10 60 53
66 |91 TR S AR PR M10 X 25 Fio T4, B 0 5
67 I THLSE 51 TR %% B2 K M10 X 30 BT, BREs. IBEE 2 S5
B1T| 68 |HEI1H MRS AR BEFE M8 X 25 BT, BREs. IBEE 2 S5
69 |ITIEE 51T %3 BERE M10 X 25 [ N e 2 S
70 [FHIIR LS HR B2 M8 X 25 Fi P, spdh, BERE 12 5
71 |NERE A 4242 M8 X 100 AFETRE L, R R | 30 S
72 |JZV SRk B2 K M10 X 30 AFE TR ., R 0 S5
73 | EREAE A BEFE M6 30 AL L B 35 S
BT 74 |1TE 2% B2 K M8 X 35 [ N e 10 %=
75 |HUIRITHR 2% B2FE M8 X 25 AR . B 45 S5
g ke o F 822 M5.5X 19 0 1=
o P HRIZFEME X 100 10 =S
79 | BRI R R 2 e [5 SK U 22 M6 X 25 ALIETHE . B R 14 S5
81 [E 119 AR5 Mk FE 4L &3 VULEERE M5X 15 LG, gk 42 £
ATFEEHERAR %590 : 35 0




